Class: X March 2021 Sample Paper (Reduced Syllabus)
Marks: 40 Geography 2 hours

Note:

I. All questions are compulsory.

1. Draw neat diagrams/graphs wherever necessary
lii. Figures to the right indicate full marks.

Iv. Start writing each main question on new page.
v. Use pencil. Don’t use color pencils.

vi. Answers should be written in blue or black ink.

Q.1) Select the correct option and rewrite the sentence: 4

1) The risk of flooding in Indian Peninsular rivers is less because -----------

a) These rivers are seasonal

b) These rivers are perennial

c) The discharge of these rivers is not dependent on rainfall
d) These rivers flow through plateau region

2) There are limitations to the development of roadways in western Amazon basin because of

a) flat plains b) ample water storage
¢) equable and humid climate d) forested region and swampy areas

3) It was a great challenge to extend telecommunication services in the economy of Brazil
because Of ---------------

a) Less population b) Brazil’s extensive size
c¢) Development of space technology d) Availability of basic facilities

4) In central India, the annual temperature is higher because ---------------

1) the 23° 30’ N latitude passes through the middle of India
i) the 23° 30’ S latitude passes through the middle of India
i) the 0° latitude passes through the middle of India

Iv) the 83° 30’ longitude passes through the middle of India




Q.2) Arrange the following in correct order and complete the chain. 4

1) Landforms while going from the northern part to southern part of India
1) The northern plains
1) Deccan plateau
1) The Himalayas
Iv) The Vindhyas

2) The percentage of Brazilian population engaged in various sectors in
increasing order

1) Secondary

i) Tertiary

i) Primary

3) Decreasing order of population density in some states of India
1) Maharashtra
i) Madhya Pradesh
1) Jammu and Kashmir

iv) West Bengal

4) Field Visit
1) Report —writing
I1) Preparations before field visit
1ii) Preparing a questionnaire

Iv) Actual field visit

Q.3) State whether the following statements are true or false and correct the
false statements (Any 4) 4
1) During a field visit, change in vegetation does not indicate the change in rainfall
2) Brazil was under Portuguese rule for one and half century.

3) To the western side of the Aravalis, lie the Ganga Plains.

4) In India, temperatures increase from north to south.

5) Huge anacondas are found in the swampy areas of Caatinga.



Q4 A) Fill the following in the given outline map and also prepare an index.

1) Roraima State
1) 5° N latitude
i) Brasilia

Iv) The Equator
v) Uruguay

vi) Rio de Janeiro

Q.4 B) Read the following map and answer the given questions.

(Any 4)
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1) Which is the highest peak of India and what is its altitude?

1) Which latitude passes near the city of Bhopal?
1ii) The Satpuras act as water divide between which two river systems ?

Iv) Write the names of the lakes on the east coast .

V) The Aravalis extend in which direction?
vi) Write the names of the highest peak of the Eastern Ghats along with its altitude.

(Any 4)

4



Q.5) Give geographical reasons. (Any 2) 6
1) USA is ahead of India and Brazil in terms of per capita income.

2) The rivers in the northern India are mostly perennial.

3) The distribution of industries in India is uneven.

4) The population distribution in Brazil is uneven.

Q.6 A) Draw a bar graph to show the following statistical information of Brazil and
answer the following questions 6

Primary occupations | Secondary occupations | Tertiary occupations
1) In which sector is the least population engaged?

i) What percentage of people is engaged in secondary sector?

1ii) What could be the reasons behind a high percentage of people enganed in

tertiary sector ?

OR
Q. 6 B) Read the following graph and answer the questions 6
Export, Import and Balance of Trade (Value in US §)
India Brazil
Year Exports Imports Exports Imports

2009-10 | 178751.4| 288372.9| 152994.7( 127647.3
2010-11 251136 369770 197356.4| 180458.8
2011-12 | 304623.53| 489181.3| 256038.7( 226243.4
2012-13 | 214099.8| 361271.9( 242579.8| 223149.1

1) What is balance of trade?

i) Tell the types of balance of trades.

1) In which country export exceeds import in all the years?

Iv) Brazil’s balance of trade belongs to which type?




V) India’s balance of trade belong to which type?

vi) What was the exports value in $ of India in the year 2010-2011?

Q.7) Answer the following in detalil. (Any 2) 8

1) Explain the characteristic features of the physiographic divisions of India.

2) Explain the diversity found in wild life in Brazil and India.

3) Prepare a questionnaire of at least 8 questions with an aim to visit the meteorological
department.

4) Explain the characteristics of mining activity in India.
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